LABJNDu? triangle lightness T*
nc™! =L w nc_loox

T
T*L aganpu7 =[IN[A 1n+A2 V(A 20A0n)] (Ya/100<Y<=Y,c)
T*(3,6)=261 T*,(18)=593,T*(90)=924

16g[T*/T* ]=0, m=0,33

L* =49, T*,=593
o ¢=0,84
14, 7,=0,0048
26 Y=18I

IY =18
V=90

T*9=923,60, /g7 1
T11559326, /3 0

15 application
T*3 6_260 92,1%; rapgge

=36

LABJINDu7
tristimulus value difference
YacmL*w  nc=100,
T*Lasanpu7 =IN[A 10+A2a)I(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYgg=0,45, Ay,=1,000, ¢=0,84

dY;=0.10, A1=0.014, Agn 0,0048
dY3,=0,03 Y,=18, dY=0,10

T*,=593 dY,=0,1Q dY,/Y, OOJ:J o

application
range

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

(dY/Y}=0,0050, A,=1,000, ¢=0,84
(dY/Y)=0,0056, A =0 ,Ag =0,0048
(dY/Y}6=0,1088 Y, 1& dy=0,10

Yn=3.6  Yyu=90
LABINDU7

tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dY}=198,78, A,=1,000, ¢=0,84
(Y/dY)g=176,51, An=0,014, A,=0,0048
(YIdY} 113,13 Y, =18, dY=0,10

log (Y/AY)
C,=(Y/AY)

T*,=593 dY,=

Q Y, /dY,=176
, =
5

application
range

'y,=18
1Yy=90

LABJINDuU? relative triangle lightness T*/T*,,

TEIT
Y=l ;6 :ne=100;

T,
T*Laganpu7=[IN[(A 17+A2RVI(A 20A0n)] (Ynd/100<Y<=Y,e)
T*n(3,6)=261,T*(18)=593,T*,(90)=924

T*odT*=1,55, Ay=1,000, 6=0,84
T*, 20,014, A= o 0048
T3 g TA=0,43, TH =503, 26 Y1

log[T*/T*,]=0, m,=0,33
L* ,=49,T*,=593 1
1 application
f range
1y,=18
Yy =90

N=36

LABJNDuUTY relative
tristimulus value difference
Yoe=L*w ~ ne=100,

T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIOY,=AgfA 1 +AgYI/AY,

dYeg/dY,=4,43, Ay=1,000, ¢=0,8
Y,¢/dY,=1,00, A=0,014, A2= f o
dY3 ¢dY,=0,31 Y,£18, dY=0,10

log(A Y/AY i)
AYIAY,

T*,=593 dY,=0,10Q dY,/Y,=0,005%

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LaBINDu7=[IN[(A 10+A2nY)J(A 2nA0n)] (Y/100<Y<=Yc)

(@YIYYAYY,=(AgitAg Y)Y (AYIYY]
(dY/Yhg/(dY/Y)=0,88, Ay=1,000, ¢=0,84
(0]

8
(leY%al(leY‘ =1,00, Ay=0,014, A, =0,

048
(dY/Y} J(dY/Y)F © 56 Y,~18 dY=0,10

Iog[(dY/YY(dY/Y)J] 0 m=-0.13 1 .
T#,2593 dY,=0,1Q dY,/Y,=0,0056, ?g’%‘ga‘“’”
1y,=18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)

(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,84
(Y/dY)g/(Y/dY)=L.00. An=0.014, /,=0,0048
(Y/dnge/(Y/dY =0,64 Y,=18, dY=0.10

1
1 application
1 range
'y,=18

Yy =90




